CCCCCCCCCCCCCCCCCCCC

BLACKTOWN FURNITURE
& SHELTER CATALOGUE




TABLE 7HUB

CONTENTS

1.0 Introduction 03
2.0 Park Suite 04
2.1 Park Seat 05
2.2 Park Bench 07
2.3 Park Picnic Bench 09
2.4 Park Picnic Table 10
2.5 Bollard 13
2.6 Bike Rack 17
2.7 Park Picnic Shelter 21
3.0 Urban Suite 23
3.1 Urban Seat 1800 24
3.2 Urban Seat 720 26
3.3 Urban Bench 28
3.4 Urban Bollard 30
3.5 Urban Bike Rack 34
4.0 Bin 37
4.1 240LT Bin 38

5.0 Drinking Fountain 41

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 2



FURNITURE & SHELTEHR 7/////HUB

INTRODUCTION

The Blacktown City furniture suite has been developed by HUB Australasia in consultation with
Blacktown City Council, to meet the needs of the growing public domain within the Blacktown local
goernment area. The intention of the Blacktown City furniture is to better coordinate the delivery of
furniture throughout the city - to have a streamlined look, better ability to manage and maintain our
furniture, and to be able to specify furniture to public place developers.

PARK SUITE

The Park Suite gives the parklands of the Blacktown local
government area a robust and functional suite of furniture
elements. The suite is a modern, robust and aesthetically
pleasing design that meets the detailed brief set out by
Blacktown City Council. The suite is offered in both ‘Spotted Gum
hardwood and a sustainable alternative of ‘Silver Gum’ Modwood.
The Park Suite will unify all outdoor furniture elements across
the numerous and growing amount of recreational spaces in
Blacktown local government area.

URBAN SUITE

This unique suite of street furnishings will be located on the
streetscapes of the Blacktown local government area over the
next 20/25 years. The Urban Suite combines a modern sleek
design with functionality and unity between the seven different
elements iwthin the suite. The suite is offered in both ‘Spotted
Gum’ hardwood and a sustainable alternative of ‘Silver Gum'’
Modwood. The Blacktown Urban suite will uplift the streetscapes
in which it inhabits breathing life into the streets of this ever-
growing Blacktown local government area.

HARDWOOD SPOTTED MODWOOD SILVER
GUM GUM

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 3






PARK TE 77///"“8

PARK SEAT

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 1800mm W 600mm H 810mm

OPTIONS:
Armrests

FOOTING OPTIONS

Surface or sub-surface mounted

Surface Mount Foot - 9646-851

Fabricated Mount and Nut - 9646-813 / 9646-840

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 5



PARK SEAT GENERAL ASSEMBLY % HUB

an indara company

1 2 3 4 5 6 7 8
GENERAL NOTES ITEM TITLE DRG No MATERIAL ary
1 A1 gmersions in milimeres uiessofhrvise shown 1 [BENCH SEAT CAST END FRAME RHS 9646-821 ALUMINIUM - A356-T6 1
-Linear dimension tolerances asspecifed on dravings. 2 |BENCH SEAT CAST END FRAME LHS 9646-822 ALUMINIUM - A356-T6 1
Al B o T e o5, 3 |ARMREST 9646-815 ALUMINIUM - A356T6 2 A
?SP;",ZQ&Q?%E%T;H;5;!?%%”%;3&“&2@;‘55 speciied 4 |BENCH SEAT SLAT STRAP 9646-824 STAINLESS STEEL - 316 1
Ol Shor 906 of angle argr oo o end 5 |STANDARD LEG 9646-823 ALUMINIUM - A356-T6 2
s O R o0, -
, Ng%gg P ,?dwgﬁsg?m'gg%;ggg? gyag,g:‘si 6 |LONG LEG - SEENOTE 1. 9646-836 ALUMINIUM - A356T6 | AS REQD
wition opproval, oo ! b6 aceepted wilhot eret 7 |FABRICATED FOOT 9646-813 Q245 STEEL 2
1. 55 o SERa o chawings, Use dimensions providedf s
isinsufficient or ambiguous contact HUB for clarification 8 BULLNOSE SLAT 9646-819 HARDWOOD TIMBER 2
9 |40x30SLAT 9646-818 HARDWOOD TIMBER 16
10_|CROSS BRACE 9646-816 ALUMINIUM - 6061-T6 1
11 129 x 1.0" SELF TAPPING TIMBER SCREW - STAINLESS STEEL - 316 58
12 |M6x30 SHCS - STAINLESS STEEL - 316 2
13 |M6x 20 SHCS - STAINLESS STEEL - 316 4
! 14_|M16 WASHER - NARROW - STAINLESS STEEL- 316 2
8 15 |M16x 70 SHCS - STAINLESS STEEL - 316 2 B
16 |M10x 140 SHCS - STAINLESS STEEL - 316 4
17 |M8x 20 COUNTERSUNK SECURITY SCREW - STAINLESS STEEL - 316 8+
}}‘ \ 18 [M30 HEX NUT - Q245 STEEL 2
! ‘ 19 |EMBEDDED MOUNT 9646-840 Q245 STEEL 2
!
i ol
2
e =
C C
SEENOTE 1 FRONT VIEW
SHOWING
1:6 SLOPED SURFACE
SIDE VIEW
SHOWING STANDARD
FINISHED HEIGHTS
b
i
I
D D
|
!
!
‘\
\‘
\‘ ®
| &
FRONT VIEW
SECTION C-C SHOWING LEVEL SURFACE
SCALE1:10
E (ROTATED 90°) E
REVISED TO INCLUDE LOGO JC 371072017 I 1 C
SKATE DETERRENT REMOVED JC 28/09/2017 - T 1B
inifial Release JC 1770772017 - |- B
DESCRIPTION DRAWN DATE| CHECKED DATE CERTIFIED DATE REVISION
Title: Dwg No:
BENCH SEAT GENERAL ASSEMBLY 9646-820
GENERAL NOTES: 2% Product Project No:
1. FOR SLOPING SITES, STD LEG IS DOCKED TO //// BCC - PARK SUITE 9648
SUIT SHORTER SIDE AND LONG LEG (ITEM 6) 7% - Materol Date Drawn:
IS DOCKED TO SUIT SITE CONDITIONS. cringerscomeany 17/07/2017
F 9} www.hub-group.com Finish: scale: F
SECTION A-A SECTIN 8 b 1:15UNO
SCALE1:5 SCALE] -5 DETAIL D Part Location: weai g
(ROTATED 90°) (ROTATED 90°) SCALE1:5 Part Name: kg ‘%
1 2 ) '3 4 5 6 7 Registered Design © HUB Innovations Pty Lid 2017

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd



P ARK E 7//////HUB

PARK BENCH

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 1800mm W 594mm H 434mm

OPTIONS:
Armrests

FOOTING OPTIONS

Surface or sub-surface mounted

Surface Mount Foot - 9646-851

Fabricated Mount and Nut - 9646-813 / 9646-840

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 7



PARK BENCH GENERAL ASSEMBLY

7HUB

an indara company

5 6 7 8
GENERAL NOTES ITEM TITLE DRG No. MATERIAL Qry
1+ Al dimensions in millmeres uniess otherwise shown. 1 BENCH CAST END FRAME 9646-826 ALUMINIUM - A356-Té 2
el et e S ot ed on arawings. 2 ARMREST 9646-815 ALUMINIUM - A356-T6 2
A S (00 203 Taomn - domin 0.5, 3 STANDARD LEG 9646-823 ALUMINIUM - A356-T6 2
FORartm s om O Gt Cnarior Sl be ot specified 4 BULLNOSE SLAT 9646-819 HARDWOOD TIMBER 2
G ow s, Ganara oI lerances bosed o oM
ardhona8 Sfangio g 17 5 40 x 30 SLAT 9646-818 HARDWOOD TIMBER 1
om0 £ 0720 120 e < 010" 6 CROSS BRACE 9646816 ALUMINIUM 6061-T6 1
3. Ne davictlon rom cirawing wil be cecepred wihout prior 7 BENCH SLAT STRAP 9646-828 STAINLESS STEEL 316 1
T B e S R o0 Brhecion ™ 8 FABRICATED FOOT 9646-813 Q245 STEEL 2
9 12g x 1.0" SELF TAPPING TIMBER SCREW B STAINLESS STEEL 316 43
10 |MI10x 140 SHCS - STAINLESS STEEL 316 4
[ M16 WASHER - NARROW - STAINLESS STEEL 316 2
12 |[M16x70SHCS - STAINLESS STEEL 316 2
13 |M8x 20 COUNTERSUNK SECURITY SCREW - STAINLESS STEEL 316 8
14 [M30 HEX NUT - ZINC PLATED 2
. 15 |EMBEDDED MOUNT 9646-840 Q245 STEEL 2 .
1800 ‘ ~
1 594
c -~ c
| | ©
' L I
I I &
4 I ( 3
| |
i i
N \‘
S
| | !
i i
| =4 4 I
e ° FGL
D D
E E
J E
IKET
il [ SKATE DETERRENT REMOVED [JC  28/09/2017]- 1T B
[ Inifial Release [JC 18/07/2017]- - A
DESCRIPTION DRAWN DATE CHECKED DATE CERTIFIED DATE REVISION
Titke: Dwg No:
. BENCH GENERAL ASSEMBLY 9646-829
%'. Product: Project No:
% // BCC - PARK SUITE 9646
" an indara company Material: Date Drawn:
SECTION D-D 18/07/2017
F SCALE1:5 www.hub-group.com Finish: Scale: F
(ROTATED 90°) 1:15 UNO
Part Location Weight: N
Part Name A3 @T‘+
1 2 3 4 5 6 7 Registered Design ® HUB Innovations Pty Ltd 2017

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 8



P AR K 7HUB

PARK PICNIC BENCH

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
Standard Bench: L 1800mm W 406mm H 434mm
Accessible Bench: L 930mm W 406mm H 433mm

OPTIONS:
Armrests

FOOTING OPTIONS

Surface or sub-surface mounted

Surface Mount Foot - 9646-851

Fabricated Mount and Nut - 9646-813 / 9646-840

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 9



P ARK

PARK PICNIC TABLE

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 1800mm W 735mm H 790mm

OPTIONS:
Armrests

FOOTING OPTIONS

Surface or sub-surface mounted

Surface Mount Foot - 9646-851

Fabricated Mount and Nut - 9646-813 / 9646-840




PARK PICNIC TABLE GENERAL ASSEMBLY

A
i =l
" =
ﬂﬂ il
il 1l
L L
! !
N |
800 ‘
c
|
i
|
|
|
i
@ e |
N N
D
E
SECTION B-B
SCALE1:5
r
1 2 3

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd

N
)
&

DETAILC
SCALE1:5

7HUB

an indara company

DESCRIPTION

GENERALNOTES:

et B o o

7%HUB

Part Location:

Part Name:

6

DRAWN

Title:
PICNIC TABLE GENERAL ASSEMBLY

Product:
BCC - PARK SUITE

Material

Finish:

6 7 8
ITEM TITLE DRG No MATERIAL QY
1 PICNIC TABLE CAST END FRAME 9646-835 ALUMINIUM - A356-T6 2
2 LONG CASTLEG 9646-836 ALUMINIUM - A356-T6 2
3 FABRICATED FOOT 9646-813 Q245 STEEL 2 A
4 CROSS BRACE 9646-816 ALUMINIUM 6061-T6 1
5 BULLNOSE SLAT 9646-819 HARDWOOD TIMBER 2
[} 40 x 30 SLAT 9646-818 HARDWOOD TIMBER 14
7 PICNIC TABLE SLAT STRAP 9646-837 STAINLESS STEEL - 316 1
8 12g x 1.0" SELF TAPPING TIMBER SCREW - STAINLESS STEEL - 316 52
9 M10 x 140 SHCS - STAINLESS STEEL - 316 4
10 [M16 WASHER - NARROW - STAINLESS STEEL - 316 2
11 [M16x70SHCS N STAINLESS STEEL - 316 2
12 |M8 x 20 COUNTERSUNK SECURITY SCREW - STAINLESS STEEL - 316 8
13 [M30 HEX NUT - ZINC PLATED 2
14 |[EMBEDDED MOUNT 9646-840 Q245 STEEL 2
B
C
D
E
@
I ‘ REVISED TO INCLUDE LOGO JC 3/10/2017‘7 ‘ ‘ C
| DRG UPDATED TO SHOW CAST LETTERING ON LEGS [JC28/0972017 - T 1B
| il eease [sc 180772017 - | A

DATE CHECKED ~ DATE CERTIFED  DATE REVISION

Dwg No:
9646-838
Project No:

9646

Date Drawn

18/07/2017

Scale: F

1:15 UNO

Weight A3 %

Registered Design © HUB Innovations Py Ltd 2017



PARK PICNIC BENCH GENERAL ASSEMBLY % HUB

an indara company

1 2 3 4 5 6 7 8
ITEM|TITLE DRG No. |MATERIAL aTy
1 |PICNIC BENCH CAST END FRAME 9646-831 |ALUMINIUM A356-T6 2
2 |STANDARD LEG 9646-823 |ALUMINIUM A356-T6 2
A 3 |FABRICATED FOOT 9646-813  |0245 STEEL 2 A
4 |PICNIC BENCH SLAT STRAP 9646-832 |STAINLESS STEEL - 316 1
5 |CROSS BRACE 9646-845 |ALUMINIUM - 6061-T6 1
6 |40 x 30 SHORT SLAT 9646-843 |HARDWOOD TIMBER 7
7 |SHORT BULLNOSE SLAT 9646-844 |HARDWOOD TIMBER 2
90 8 [12g x 1.0” SELF TAPPING TIMBER SCREW - STAINLESS STEEL - 316 31
9 |M10 x 140 SHCS - STAINLESS STEEL - 316 &
10 [M16 WASHER - NARROW - STAINLESS STEEL - 316 2
11 [M16 x 70 SHCS - STAINLESS STEEL - 316 2
12 |M8 x 20 COUNTERSUNK SECURITY SCREW - STAINLESS STEEL - 316 8
B T B
Al A
PICTORIAL VIEW
NTS
F - 1
C e}
(&
g
o =
- ©
5
=3
©)|
<
<
()
® (o]
] @
D T D
: EXPLODED VIEW €
NTS
I
GENERAL NOTES:
& 1 REMOVE ALL BURRS AND SHARP EDGES
] T —
ITP DOC. No. PARENT ASSEMBLY ORIGINAL ISSUE JC 1670372008 | JH X A
9646-841 REVISION NOTES ORN DATE APVD DATE REV
X oS o0 .
“ 1vw unear << woonn 205nm | PARK SUITE SHORT PICNIC BENCH
SECTION A-A " e 2
F www.hub-group.com GENERAL ASSEMBLY
SCALE1:5 AL oo NS 0 oo s
VA NG To SUPLEENTARY 40 FLES, OPEISINAL 0T St o T s s SEE BT X BCCFURNITURE SUTE -
AUTRTATIE COUTACT 105 78 CARFEATIN 0 1 COMLTHG 0 AFGLOS NEGRIATIN | 9 ] gt |
1 2 3 4 5 6 REGISTERED DESIGN © HUB INNOVATIONS PTY LTD 2016

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 12



P ARK

PARK BOLLARD

Picture showing removable bollard

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Annodised Aluminium
Stainless steel fasteners
Top Cap with Logo
Protective Strip

DIMENSIONS:
L 110mm W 60mm H 900mm

FOOTING OPTIONS

Surface or sub-surface mounted and removeable
Surface Mount Foot - 9646-851

Fabricated Mount and Nut - 9646-813 / 9646-840




PARK BOLLARD FIXED GENERAL ASSEMBLY

SECTION A-A
SCALE1:5
- ,
= |
C
J_,,f 1 ,,_k\ rfs
] Rl =8 A
i |

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

5 6 7 8
ITEM |TITLE DRG No |MATERIAL aty
1 FIXED BASE MOUNT PLATE 9646-116 |STAINLESS STEEL - 316 1
2 BODY EXTRUSION 9646-117 |ALUMINIUM - 6061-T6 1
3 TOP CAP 9646-122 |ALUMINIUM - A356-T6 PC RAL 9006 1 A
4 M12 x 150 HILTI CHEMSET ANCHORS - HT MILD STEEL 4
5 M10 x 35 S-CSK-CS - STAINLESS STEEL - 316 2
6 M12 WASHER - HT MILD STEEL 4
7 M12 NUT - HT MILD STEEL 3
8 M8 (F) BARREL NUT (INCL. MALE COUNTERPART) - STAINLESS STEEL - 316 1
B
(o}
_/
D
€
® ¢ ©
& PICTORIAL VIEW
9 NTS
<
\/
g
SECTION B-B ®\“@
SCALE1:5 d
E
A ORIGINAL ISSUE
Jc JH 12/02/2018 1/1 A3
EXPLODED VIEW |
NTS PARK SUITE - BOLLARD @

WHEN REFERING TO SUPPLEMENTARY CAD FILES, DIMENSIONAL DATA SHOWN ON THIS DRAWING IS
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION

5

FIXED SURFACE MOUNT GA
PROJECT TITLE
BCC FURNITURE

PROJECT Hlo ORG o
9646

ALL DIENSIONS N HLLMETRES UNO

D0 NOT SCALE

HATERIAL GRADE/SPEC

ij:L F
ScALE

15 UNO

FNSH WEGHT

ey
5.5kg (BOLLARD) 9646-114 A
6 Registered Design © HUB Innovations Pty Ltd 2018



PARK BOLLARD SUB-SURFACE GENERAL ASSEMBLY

7HUB

an indara company

1 2 3 4 5 6 7 8
ITEM[TITLE DRG No [MATERIAL ary
1 |FIXED BASE MOUNT PLATE 9646-116 |STAINLESS STEEL - 316 1
2 |BODY EXTRUSION 9646-118 |ALUMINIUM - 6061-T6 1
A 3 |TOP CAP 9646-122 |ALUMINIUM - A356-T6 PC RAL 9006 1 A
4 |M12 x 220 HILTI CHEMSET ANCHORS - HT MILD STEEL &
5 |M10 x 35 S-CSK-(S - STAINLESS STEEL 2
6 |M12 WASHER - HT MILD STEEL 4
‘ 7 [M12 HEX NUT - HT MILD STEEL 4
] 8 |[M8 (F) BARREL NUT (INCL. MALE COUNTERPART) - STAINLESS STEEL - 316 1
B B
C C
[N
D D
q
S q
2 L/
°
H@ PICTORIAL VIEW
NTS
) . ERE ./. .
PER IR
P ®
a ,‘ -
- 'AA
4| .
N < s A ORIGINAL ISSUE
. 4 1TP DOC. No. PARENT ASSEMBLY
. BRI GHECKED | OATE QoA
e JCT 12/02/2018  1/1 A3
HH EXPLODED VIEW GRAVING TITLE ~
. O ‘ T NTS wwhub-group.com PARK SUITE - BOLLARD «\J\\; .
< ° ALL DIMENSIONS N MILLIMETRES UNO oonor scae | FIXED SUBSURFACE MOUNT GA
b ! :, ERIAL GRADE/SPEC PROJECT TITLE SCALE
T
WHEN REFERING T0 SUPPLENENTARY CAD FILES, ONMENSIONAL DATA SHOWN ON THS CRAWNG 1S | 1o BCC FURNITURE T5 UNO |
AUTHORITATIVE. CONTACT HUS FOR CLARFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORHATION 6.0kg (BOLLARD) | 9646 9646-115 A
1 2 3 4

5 6

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd

Registered Design © HUB Innovations Pty Ltd 2018



PARK BOLLARD REMOVEABLE GENERAL ASSEMBLY 7HUB

an indara company
2 3 4 5 6 7 8
ITEM|TITLE DRG No. | MATERIAL ary
1 |BODY EXTRUSION 9646-124 |ALUMINIUM - 6061-T6 - ANODISED (CLEAR) 1
2 |BOTTOM CAP WITH SPIGOT AND LOCK MOUNT 9646-121 |STAINLESS STEEL - 316 1
A 3 |TOP CAP 9646-122 |ALUMINIUM - A356-T6 - POWDERCOAT RAL 9006 1A
A EXCHANGE BARREL NUT 4 |EMBEDDED BASE RECEPTACLE 9646-123 |STAINLESS STEEL - 316 1
i B FOR EYEBOLT TO 5 M3 x 10 S-BH-CS - STAINLESS STEEL - 316 2
r ADD STANCHION 6 [M10 x 35 S-CSK-CS STAINLESS STEEL - 316 2
1 7 [M8 (F) BARREL NUT (INCL. MALE COUNTERPART). STAINLESS STEEL - 316 1
/I) 8 |PUSH LOCK [F/RST LOCK OR EQV’] TBC 1
s
!
B TN B
& N
N
N
n X, —
X,
A3

(g TOP VIEW
=
c -* SHE.
~—
EMBEDDED BASE
RECEPTACLE
SCALE 1:5
D
D
PUSH LOCK

Q O

20 X 20 BAR SPIGOT

*Tf

ﬂ ORN: JC
a 4 “ .
4w a N

DATE: 09/02/2018

REDRAWN FOR REVISION B.

|
T
i
|
I
|
‘ A ORIGINAL ISSUE
! - 1T DOC. No. PARENT ASSEMBLY
i o
F - l/.

D E s
i BTN A 77 V7 I WY |
()

e T
= W hub-group con PARK SUITE - BOLLARD
SECTION A-A EXPLODED VIEW AL omesons w merRes wo oo vor scae | REMOVABLE GENERAL ASSEMBLY
MATERIAL GRADE/SPEC. PROJECT TITLE SCALE
SCALE 1:5 NTS SEE BOM BCC FURNITURE 15 UNO
WHEN REFERING T0 SUPPLEMENTARY CAD FLES, DMENSIONAL DATA SHOWN ON THS DRAWIG 15 | SEE. - D JRNITURE -
AUTHORITATIVE. CONTACT HUB FOR CLARFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION “Skg (BOLLARD) 9646 9646-120 B
1 2 3 4 5 6

Registered Design ©HUB Innovations Pty Ltd 2018

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd



P ARK

PARK BIKE RACK

Picture showing sub-surface mounted

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Linish Aluminium Sand castings
Stainless steel fasteners

Top Cap with logo

DIMENSIONS:
L 100mm W 542mm H 782mm

OPTIONS:
Surface or sub-surface mounted




PARK BIKE RACK SURFACE MOUNTED % HUB

an indara company

1 2 3 4 5 6 7 8
ITEM |TITLE DRG No. |MATERIAL aTY
1_|SURFACE MOUNT EXTRUSION BODY 9646-871 | ALUMINIUM 6061-T6 - CLEAR ANODISED 1
2 |MACHINED ARMREST 9646-862 |ALUMINIUM - A356-T6 - POWDER COAT RAL 9006 | 2
A 3_|T0P CAP 9646-863 | ALUMINIUM - A356-T6 - POWDER COAT RAL 9006 | 1 | A
LE 4 |FIXED BASE MOUNT PLATE 9646-116_|STAINLESS STEEL - 316 - BRUSHED 1
S |M6 x 16 GRUB SCREW -~ |STAINLESS STEEL - 3% 2
6 |M8 x 25 COUNTERSUNK SECURITY SCREW -~ |STAINLESS STEEL - 3% 3
7 |M10 x 35 SOCKET COUNTERSUNK HEAD CAP SCREW - |STAINLESS STEEL - 316 2
8 |M12 x 150 HILTI CHEMSET ANCHORS — |WTsTEEL L
9 |M12 WASHER — |WTsTEEL L
s ‘ ‘ ‘ ‘ EE 10_|M12 HEX NUT -SEE NOTES - |WTsteeL A
0
10
8 B
10
A
si2 -— PICTORIAL VIEW
I
c L c
|
L |
D i D
A
i
i
i
A
i
A
i
i
i
A
i
f
LI
izl
iz
3 ZZ1
L
ff H
E igéi E
o
ff |
o
|
)
- § \\“
I § %
A@-—l—ﬁﬁ el = Fal ANNE, o e S sousn] A
T T T T Revison ores ow owe o oat | ey
I I I I 0 TOLERANCES ON AWI
i i i Lo SECTION A-A /// HuB omensions w0 T A3
4 SCALE 1: 5 D MOD oo s PARK SUITE - BIKE RACK SURFACE MOUNT
f 8 ‘ ‘ ‘ }A : W hub-group.com posan 5t GENERAL ASSEMBLY @
! ! ! ! ALL OENSIONS I HLUMETRES UNO 00 NOT SCALE s
! ! ! ! FATERIAL GRADE/SPEC PROJECT TITLE StALE <L
u u u u WHEN REFERING TO SUPPLEYENTARY (4O FLES, DHENSIONAL DATA SHOWN ON TS onawng 15 SEE BOM BCC FURNITURE SUITE 15 N0
P e PRORCT T oG e ST eV
AUTHORITATIVE. CONTACT HUB FOR CLARIICATION OF ANY CONFLICTING OR AMBIGUOUS INFORIATION 6.6k 9646 9646-870 | 1/
1 2 3 4 5 6 REGISTERED DESIGN © HUB INNOVATIONS PTY LTD 201

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 18



PARK BOLLARD SURFACE MOUNTED

A
B
-
PICTORIAL VIEW
40 i 0 NTS
C
A
el

1)

T——r 1t

w2
750

te0

FGL

J0

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd

200

FaL

7HUB

an indara company

J=E)
SECTION A-A
SCALE 1:5

WHEN REFERING TO SUPPLEMENTARY CAD FILES, DIMENSIONAL DATA SHOWN ON THIS DRAWING IS
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION

5

6 7 8
ITEM[TITLE DRG No. |MATERIAL ary
1 |EXTRUSION BODY 9646-861 |ALUMINIUM - 6061-T6 - CLEAR ANODISED 1
2 |MACHINED ARMREST 9646-862 |ALUMINIUM - A356-T6 - POWDER COAT RAL 9006 2
3 |TOP CAP 9646-863 ALUMINIUM - A356-T6 - POWDER COAT RAL 9006 1A
4 M6 x 16 GRUB SCREW - STAINLESS STEEL - 316 2
5 [M8 x 25 COUNTERSUNK SECURITY SCREW - STAINLESS STEEL - 316 &
6 |M8 x 140L THREADED ROD - STAINLESS STEEL - 316 1
B
C
D
[N
o EXPLODED VIEW
NTS .
FOOTING SIZE INCREASED T0 300 | 09/05/2019 | IH C
ADDED FOOTING SIZE JC | 07/05/2019 IH B
ITP 0OC. No. PARENT ASSEMBLY ORIGINAL ISSUE JC 8/06/2015  JH X A
% HUB TOLERANCES O omaun e A3
; HESORS Un
W BUD oo e PARK SUITE - BIKE RACK

www hub-group.com

ALL DMENSIONS N MILLIMETRES LNO

HATERIAL

SEE BOM

FNSH
SEE BOM
6

GRADE/SPEC

WEiGHT

GENERAL ASSEMBLY

00 NOT SCALE

PROECT TTLE
BCC FURNITURE SUITE
PROJCT N, 0% Yo

6.2kg 9646 9646-860

f F
110 UNO

£

171

Rev

C

REGISTERED DESIGN © HUB INNOVATIONS PTY LTD 2016



P ARK

7HUB

SURFACE MUUNT FOOTING OPTIONS

O
©

0

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd

-

OPTION 1

n indara company

SURFACE MOUNT FOOT
9646-851
Supplied as standards with orders

Price - $38 EA

OPTION 2

FABRICATED FOOT + EMBEDDED MOUNT &

NUT
9646-813 + 9646-840
To be requested on order placement

Price - Set of 1 x $122

20



P ARK S UITE

PARK PICNIC SHELTER

an indara company



PARK PICNIC SHELTER % HUB

an indara company

1 2 3 4 5 13 7 8
ITEM|TITLE DRG No. | MATERIAL QTY
1 |coLUMN 9646-701 |STEEL - 0345 (HDG) 2
2 [CENTRAL BEAM 9646-704 |STEEL - 0345 (HDG) 1
Al 3 [END RAFTER RHS 9646-702 |STEEL - 0345 (HDG) 2 A
COMPOSITE 4 [MID RAFTER 9646-703 |STEEL - 0345 (HDG) 4
ROOF PANELLING EXTRUDED BULLNOSE 5 [BULLNOSE SUBSTRUCTURE EXTRUSION | 9646-705 |ALUMINIUM - 6061-T6 2
< SUBSTRUCTURE 6 |DOWNPIPE 9646-722 |STEEL (HDG) 2
7 [GUTTER HEADER BOX 9646-726 |STEEL (HDG) 2
il 8 |GUTTER 9646-110_|STEEL (HDG) 2
i 9 [LEAF GUARD 9646-709 |STEEL (HDG) 2
LEFT HAND PANEL CENTRE PANEL RIGHT HAND PANEL 'El 10 [COLUMN CLADDING A 9646-117 |ALUMINIUM - 6061-Té 2
i 11_|COLUMN_CLADDING B 9646-711_| ALUMINIUM - 6061-T6 2
STEEL STRUCTURE OUTER BULLNOSE 12_[COLUMN CLADDING C 9646-712_| ALUMINIUM - 6061-T6 2
(SEE SHEET 2 EXTRUSION 13_[COLUMN TOP CAP 9646-113_|ALUMINIUM - A356-T6 2
) 14 [RAFTER CLADDING LHS 9646-714 | ALUMINIUM - 6061-T6 2
A 15 |RAFTER CLADDING RHS 9646-#15_ | ALUMINIUM - 6061-T6 2
B : A 16_|RAFTER END CAP 9646-716 | ALUMINIUM - A356-T6 L |8
DETAIL D 17_[OUTER BULLNOSE EXTRUSION 9646-718 | ALUMINIUM - 6061-T6 6
SCALE 1: 5 18_|ROOF PANEL RHS 9646-706 |FIRE-RESISTANT AL COMPOSITE (DARK GREY)| 2
19 |ROOF PANEL CENTRE 9646-707 |FIRE-RESISTANT Al COMPOSITE (DARK GREY)| 2
LS ‘ CENTRE RHS 20 |ROOF PANEL LHS 9646-708 |FIRE-RESISTANT AL COMPOSITE (DARK GREY)| 2
| 21 [M10 x 45 SBHCS - STAINLESS STEEL - 316 8
‘ 22 |M6 x 25 SBHCS - STAINLESS STEEL - 316 24
23 |M10 x 35 SBHCS - STAINLESS STEEL - 316 16
! 24 _|M10 x 20 SBHCS - STAINLESS STEEL - 316 32
‘ 25 |M8 x 20 SBHCS - STAINLESS STEEL - 316 12
| 26_|COLUMN - DOUBLE SIDED 9646-724 |STEEL - 0345 (HDG) AS REQ
27_|JOINING SPINE 9646-727 |STEEL - 0345 (HDG) AS REQ
O ‘ ‘ £ 28 [END RAFTER LHS 9646-725 |STEEL - 0345 (HDG) 2
c 1 SECTION A-A C
1—* SCALE 1: 20
A
80
RHS CENTRE LHS by
o CAPTIVE MESH w
LEAF COVER
1322 L
TYP PANEL WIDTH
D DETAIL B N GALVANISED D
PITCH BETWEEN COLUMN CENTRELINES T GUTTER
COLUMN EXTERNAL
PLAN VIEW (CLADDING) SIZE
SCALE 1: 20 I —= A
4028
, OVERALL SPAN , =
‘ N
E DETAIL C E
~ GUTTER AND
E g MESH LEAF-COVER
i e SCALE 1:5 0 CAP aTY REVSED 3C [30/172008 | R G
El A RAFTERS LHS/RHS CHANGED Jo 30/1/2018 | OH F
z BULLNOSE SECTION CHANGED TO EXTRUSION JC 21172018 | JH XX/XX/XXXX E
= TESSELATED ASSEMBLY READDED T0 SHEET & IC 20/01/20% | K XX/XX/XXXX D
REORAWN, UPDATES TO FRAME SIZES, GUTTER JC | 26/06/2018 JH  XX/XX/XXXX C
COLUMN AND BASEPLATE REVISED IO 13/03/2018 | JH XX/XX/XXXX B
TP DOC Mo |PARENT ASSEMGLY, ORIGNAL ISSUE I ez | 4 X A
H REVISION NOTES ORN OATE APVD OATE REV
FGL TOLERANCES ON | caawn e A3
I - DIMENSIONS UNO
e | Lnean g‘.“.fn'::fn”mn'gl i SHELTER A
F www.hub-group.com ANELLAR GENERAL ASSEMBLY ) F
SIDE ELEVATION END ELEVAT|ON ALL DIMENSIONS IN MILLIMETRES UNO DO NOT SCALE
VATERAL GRAGE/SPEC BROJECT TiTLE
N R 10 SUPEEATARY R0 LS, NSO 94T S0 o 1 v s | SEE B0 .. BLACKTOWN CITY FURNITURE 150 bvo -
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION %646 9646-700 1,4
1 2 3 4 5 6 REGISTERED DESIGN © HUB INNOVATIONS PTY LTD 2016

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 22






URBAN

URBAN SEAT 1800

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 1800mm W 705mm H 812mm

OPTIONS:
Surface or sub-surface mounted

24



URBAN SEAT 1800 GENERAL ASSEMBLY

D
A
SECTION C-C
DETAIL D
SCALE1:5
8 a0
TOP VIEW
C
-
FGL
i T T
FRONT VIEW
1750 HDB
875 €
I
o 8
3
E - )
BOTTOM VIEW
B
‘GENERAL NOTES;
1. All dimensions in milimetres unless otherwise shown.
2. Tolerances
-Linear dimension folerances as specified on drawings
General tolerances are as follows:
0.5mm - 6mm £ 0.1, émm - 30mm & 0.2,
30mm - 120mm + 0.3,120mm - 400mm + 0.5,
400mm - 1000mm + 0.8,1000mm - 2000mm +1.2
Tolerances on all angular dimensions shall be G specified
in dfawings, General angular olerances based on lengih
of short side of angle are:
E >0-10mm 2 1°, r%m—§0mm +0°30, ) ASSEMBLY NOTES:
50mm - 120mm + 0° 20',120mm - 400mm + 0°10° 1. All fasteners to be included in supply of assembly unless
-Holes and radii + 0.5mm unless specified otherwise. ofherwise indicated by HUB.
3. No deviation from drawing will be accepted without prior [ 2. Al surfaces fo be fres from marks and scrafches.
‘witten approval 3. Use a Nickle based anfi-seizure lubricant befween Stainless
Do nof scale from drawings. Use dimensions provided if this | fiings and fapped Siainiess Sieel unless sialed.
is insufficient or ambiguous contact HUB for clarification 4. Predril Wooden slats prior fo screwing to avoid splitting

www.hub-group.com

1 2

Registered Design © Copyright HUB Innovations Pty Ltd

3

7HUB

an indara company

DETAILE
SCALE1:5

SECTION A-A ff

6 7 8
PARTS LIST
NO. TITLE MATERIAL DRAWING #] QTY
1_[Side Frame-Sand Cast-Leff Aluminium A356 9646-050 1
2 |Side Frame-Sand Cast-Right Aluminium A356 9646-053 [N
3_[Cross Brace-1800 Aluminjum 6061 T1 9646-063 1
4 [Seat Strap Stainless Steel Grade 304 | 9646-060 1
5 |Urban Siaf-1800-Type Al Select Grade Hardwood 9646-100 [
6 [Urban Slaf-1800-Type A2 Select Grade Hardwood 9646-101 1
7 |Urban Slaf-1800-Type BT Select Grade Hardwood 9646-102 3
8 |Urban Siaf-1800-Type B2 Select Grade Hardwood 9646-103 1
9 |Washer-Split-Mé Stainless Steel Grade 304 OEM 4
10 |Button Head Socket Screw Mé x 20 Stainless Steel Grade 304 OEM 4
11 [Wood Screw Button Head Phillips 12g x25 Stainless Steel Grade 304 OEM 55
12 [HILTI HAS System-M12x160 OEM OEM 4
B
c
A
e
=)
[
| D
BACK VIEW { T
A
3.5MM PILOT HOLES TO BE
DRILLED IN TIMBER FOR ALL
WOOD SCREWS PICTORIAL B ;
RHS END FRAME GIVEN SEPARATE DRG No. ‘ 13/02/2019]- ‘ ‘ D
REVISED END FRAMES TO INCLUDE LOGO \JC 3/10/2017 - ,‘, ‘ C
Modified Parfs ‘ 18/07/17 - ‘ ‘ B
Inifial Release ‘ 12/07/17]- - - A
DESCRIPTION DRAWN DATE CHECKED DATE | CERTIFIED DATE REVISION
Title: Dwg No:
General Assembly 9646010
. o
% H u B Pvﬁ?bgn Seat 1800 Sand Cast W;f;;m
e an indara company Material: Date Drawn:
Refer fo parts list 12/07/17
www.hub-group.com Finish: scale: F
Refer to Parts List 120
Part Location: " o~
par oo Mo A3 (-
6 7 Registered Design © HUB Innovations Pty Ltd 2017

25



URBAN

URBAN SEAT 720

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 720mm W 705mm H 812mm

OPTIONS:
Surface or sub-surface mounted

26



URBAN SEAT 720 GENERAL ASSEMBLY

7HUB

an indara company

1 2 3 4 5 3 7 8
PARTS LIST
NO. TITLE MATERIAL DRAWING # | Qry
A 1_|Side Frame-Sand Cast-Left Aluminium A356 9646-050 1 N
O\ [ 2 [side Frame-Sand Casi-Right Aluminium A356 9646-053 | 1
3 |Cross Brace-720 Aluminium 6061 T1 9646-064 1
4 |Urban Slat-720-Type Al Select Grade Hardwood 9646-104 6
5 |Urban Slat-720-Type A2 Select Grade Hardwood 9646-105 1
6 |Urban Slat-720-Type B1 Select Grade Hardwood 9646-106 3
7 |Urban Slat-720-Type B2 Select Grade Hardwood 9646-107 1
8 |Washer-Split-Mé Stainless Steel Grade 304 OEM 4
20 9 |Button Head Socket Screw Mé x 20 Stainless Steel Grade 304 OEM 4
10 |Wood Screw Button Head Phillips 12g x25 Stainless Steel Grade 304 OEM 44
11 |HILTI HAS System-M12x160 OEM OEM 4
B L L B
DETAIL D
1 | | SCALE1:5
TOP VIEW
A
—
c c
~
5 |
|
FGL < |
BACK VIEW
{ EXPLODED VIEW
FRONT VIEW
D D
A
670 HDB
i
‘ s s DETAIL E
‘ * * SCALE1:5
E G PICTORIAL B E
HDB 3.5MM PILOT HOLES TO BE RHS GIVEN SEPARATE PART No. JC 13/02/2019]- D
L DRILLED IN TIMBER FOR ALL REVISED END FRAME TO INCLUDE LOGO JC  3/10/2017[- C
BOTTOM VIEW WOOD SCREWS Modified porfs 18/07/17- B
Inifial Release 12/07117]- - - A
DESCRIPTION DRAWN DATE CHECKED DATE | CERTIFIED DATE REVISION
‘GENERAL NOTES:
1. All dimensions in milimetres unless ofherwise shown, Title: Dwg No:
2. Tolerances General Assembly 9646-009
“Linear dimension tolerances as specified on drawings. ,/ .
General folerances are os folows: %/, Product: Project No:
30mm - 120mm + 0.3,120mm - 400mm + 0.5, ‘ // Urban Seat 720 Sand Cast 9646
400mm - 1000mm + 0.8,1000mm - 2000mm +1.2 Ko
“Tolerances on all angular dimensions shall be as specified anindara company Material ) Date Drawn:
in drawings. General angular folerances based on length Refer to parts list 12/07/17
Qfshortside of angle o £ 0° 30, 'ASSEMBLY NOTES:
F 50mm - 120mm  0° 20,120mm - 400mm  0°10 1. Allfasteners fo be included in supply of assembly unless i ub-group.com i i Sedle F
-Holes and radii + 0.5mm Unless specified ofherwise. st ncieated by Hus. PP v Refer to Parts List 1220
3. No deviation from drawing will be accepted without prior || 2. All surfaces fo be free from marks and scratches,
o BBEEIE, o, e imonsions v 10 | 2 e Do anl i Leort befween s v p g
is insufficient or ambiguous confact HUB for clarification ST WooGen siate prior 1o scrawing 1o aveid spiifing Part Nome: -kg N
1 2 3 4 5 6 7 Registered Design © HUB Innovations Pty Lid 2017

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

27



URBAN E

URBAN BENCH

www.hub-group.com

Registered Design © Copyright HUB Innovations Pty Ltd

7HUB

an indara company

MATERIALS

Linish Aluminium Sand castings

Select grade Hardwood - oil finish or Modwood slats
Stainless steel fasteners

DIMENSIONS:
L 720mm W 705mm H 812mm

OPTIONS:
Surface or sub-surface mounted

28



URBAN BENCH GENERAL ASSEMBLY

USE SF

7HUB

an indara company

SCALE1:5

DETAIL D
SCALE1:2

DETAILE

1 2
A
800
B L
TOP VIEW
C
FGL
FRONT VIEW
D 750 HDB
875
T
8
BOTTOM VIEW
E
GENERAL NOTES:
1. All dimensions in milimetres unless otherwise shown.
2! Tolerances
Zinear dmension tolerances as specified on rawings
General folerances are as follows:
.. +0.1, m - 3( 3
30mm - 120mm + 0.3,120mm - 400mm + 0.5,
400mm - 1000mm + 0.8,1000mm - 2000mm +1.2
Tolerances on all angular dimensions shall be G specified
in Grawings. General angular folerances based on lengin
. Qfshortside of anale o1 £ 0° 30, ASSEMBLY NOTES:
50mm - 120mrm + 0° 20.120mm - 400mm + 0°10

-Holes and radii + 0.5mm unless specified otherwise.

3. No deviation from drawing will be accepted without prior

‘witien approva
4.

www.hub-group.com

Do not scale from drawings. Use dimensions provided if this
is insufficient or ambiguous contact HUB for clarification

1

1. All fasteners fo be included in supply of assembly unless
by

otherwise indicated by HUB.

2. All surfaces o be free from marks and scratches.
Use a Nickle based anti-seizure lubricanf befween Stainless

3
fix
4

ings and fapped Stainless Steel unless state

Prediill Wooden slats prior fo screwing fo
2

Registered Design © Copyright HUB Innovations Pty Ltd

ted
avoid splitiing

3

5 3 7 8
PARTS LIST
NO. TITLE MATERIAL DRAWING # | QTY.
1 [Leg Aluminium A356 9646-055 2
2 [Cross Brace-1800 Aluminium 6081 T1 9646-063 1 A
3 |Bench Strap Stainless Steel Grade 304 9646-061 1
4 |Urban Slat-1800-Type Al Select Grade Hardwood 9646-100 5
5 |Urban SIaf-1800-Type BT Select Grade Hardwood 9646-102 2
6 |Urban Slaf-1800-Type B2 Select Grade Hardwood 9646-103 2
7 |[Washer-Split-Mé Stainless Steel Grade 304 OEM 4
8 [Buffon Head Sockef Screw Mé x 20 Stainless Steel Grade 304 OEM 4
9 |Wood Screw Button Head Phillips 12g x32 Stainless Steel Grade 304 OEM 45
10 [HILTI HAS System-M12x160 OEM OEM 4
B
] 3.5MM PILOT HOLES TO BE
DRILLED IN TIMBER FOR ALL
WOOD SCREWS
DETAILB
SCALE1:2
b i
c
PICTORIAL A
i
SECTION C-C
D
PICTORIAL B
E
[ REVISED END FRAWES TO INCLUDE LOGO [IC 31072017 T TC
Modified Porfs I 18/07/17- - B
Tnifial Release I 12/07/17 |- BB q
EXPLODED VIEW DESCRIPTION DRAWN DATE CHECKED DATE | CERTIFIED DATE REVISION
ﬂ wéenera\ Assembly D;;iz?m 1
. o
ﬂ % H u B P’ﬁ?bgn Bench - Sand Cast Pr;f;'ém
e an indara company Material: N Date Drawn:
Refer fo parts list 12/07/17
www.hub-group.com Finish: scale: F
Refer to Parts List 120

Part Location:

Part Name:

6

Weight A3

-kg

7 Registered Design © HUB Innovations Pty Ltd 2017

29



URB AN 7HUB

URBAN BOLLARD

MATERIALS

Linish Aluminium Sand castings
Stainless steel fasteners
Reflective Strip

DIMENSIONS:
L 1050mm W 240mm H 812mm

OPTIONS:
Surface or sub-surface mounted or removeable

Picture showing sub-surface mounted

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 30



URBAN BOLLARD FIXED SURFACE MOUNTED GENERAL ASSEMBLY 7HUB

an indara company

1 2 3 4 5 6 7 8
[ITEM[TITLE | DRG No. [MATERIAL _ [QTY

|1 |URBAN SUITE BOLLARD LOGO DRAWING [ oeee-136 WA [ -

0 Tve, | A B
B B
[,
L f
mk N B
L ! J |
! I
c | | c
‘ SEE DXF FILE
9646-136 FOR
i TEXT DETAIL
O ‘ ©)
= | | %
© ‘ |
D E ‘ ‘ D
I
g ‘ GENERAL NOTES
@ ‘ 1 REMOVE ALL BURRS AND SHARP EDGES
I
@ | SAND CAST NOTES
— ‘ 1 MATERIAL CERTIFICATES TO BE PROVIDED AS PER ITP AND HUB TECHNICAL SPEC
Iﬂ I - Iﬂ 2. CASTINGS TO BE HOMOGENOUS AND WITHOUT CAVITATION
‘ 3. CASTINGS TO BE DRESSED AND FETTLED TO REMOVE ALL FLASHING AND RUNNERS
‘ Ea 4. CASTINGS SHALL BE FREE OF ALL MOULD AND SAND RESIDUE
— | + 5. CASTINGS SHALL BE FREE OF SINKS, WARPS, TWIST, IRREGULARITIES AND COLD SHUTS
‘ ‘ ‘ vp 6. POST MACHINING TO BE IN ACCORDANCE WITH HUB PART DRAWINGS.
‘ 1 MANUFACTURING DIMENSIONAL TOLERANCING IN ACCORDANCE WITH HUB TECHNICAL
! | SPECIFICATION
|
E E
I | I
| o
I | |
| .
! I
| 3 [
e = F7_. 77) REV | NOTES ORN APVD
[ I} - v O I} ITP 0OC. No. PARENT ASSEMBLY
9646-127
- TOLERANGES ON | ORI [APPROVED DATE omAuN e
A B 7// H“B DIMENSIONS UN0 | JC JH 11/04/2018 1,1 A3
SECTION A-A SECTION B-B DIOD o o e ®
F SCALE 1:5 . wwwhub-group.com URBAN SUITE FIXED BOLLARD ®|e
SCALE 1:5 At ovsos wrweries e oovor scue | SURFACE MOUNT BODY -
£RAL GRADE/SPEC PROECT TITLE ScaLe J»
WHEN REFERING TO SUPPLEMENTARY CAD FILES, DIMENSIONAL DATA SHOWN o1 This oRAwNG 15 | e INIUM A36-T6 BCC FURNITURE SUITE 15 UNO |~
AUTHORIATIV, CONTACT W8 FOR CLARFEATION OF ANY (ONFLCTIG 6% AHBILOUS NEORAATON | b\ COAT RAL 9006 | 8.7k 9646 9646-126 A
1 2 3 4 5 6 Registered Design ©HUB Innovations Pty Ltd 2018

31

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd



URBAN BOLLARD FIXED SUB-SURFACE MOUNTED GENERAL ASSEMBLY 7HUB

an indara company

1 2 3 4 5 6 7 8
[ITEM[TITLE | DRG No. [MATERIAL _ [QTY

|1 |URBAN SUITE BOLLARD LOGO DRAWING [ oeee-136 WA [ -

0 Tve, | A B
B B
[,
i i
¥ A
mk . B
L ! J |
! I
c | | c
‘ SEE DXF FILE
9646-136 FOR
i TEXT DETAIL
O ‘ ©)
= | | %
© ‘ |
D E ‘ ‘ D
I
g ‘ GENERAL NOTES
@ ‘ 1 REMOVE ALL BURRS AND SHARP EDGES
I
@ | SAND CAST NOTES
— ‘ 1 MATERIAL CERTIFICATES TO BE PROVIDED AS PER ITP AND HUB TECHNICAL SPEC
Iﬂ I - Iﬂ 2. CASTINGS TO BE HOMOGENOUS AND WITHOUT CAVITATION
‘ 3. CASTINGS TO BE DRESSED AND FETTLED TO REMOVE ALL FLASHING AND RUNNERS
‘ Ea 4. CASTINGS SHALL BE FREE OF ALL MOULD AND SAND RESIDUE
— | + 5. CASTINGS SHALL BE FREE OF SINKS, WARPS, TWIST, IRREGULARITIES AND COLD SHUTS
‘ ‘ ‘ vp 6. POST MACHINING TO BE IN ACCORDANCE WITH HUB PART DRAWINGS.
‘ 1 MANUFACTURING DIMENSIONAL TOLERANCING IN ACCORDANCE WITH HUB TECHNICAL
! | SPECIFICATION
|
E E
I | I
| o
I | |
| .
! I
| 3 [
e = F7_. 77) REV | NOTES ORN APVD
[ I} - v O I} ITP 0OC. No. PARENT ASSEMBLY
9646-127
- TOLERANGES ON | ORI [APPROVED DATE omAuN e
A B 7// H“B DIMENSIONS UN0 | JC JH 11/04/2018 1,1 A3
SECTION A-A SECTION B-B DIOD o o e ®
F SCALE 1:5 . wwwhub-group.com URBAN SUITE FIXED BOLLARD ®|e
SCALE 1:5 At ovsos wrweries e oovor scue | SURFACE MOUNT BODY -
£RAL GRADE/SPEC PROECT TITLE ScaLe J»
WHEN REFERING TO SUPPLEMENTARY CAD FILES, DIMENSIONAL DATA SHOWN o1 This oRAwNG 15 | e INIUM A36-T6 BCC FURNITURE SUITE 15 UNO |~
AUTHORIATIV, CONTACT W8 FOR CLARFEATION OF ANY (ONFLCTIG 6% AHBILOUS NEORAATON | b\ COAT RAL 9006 | 8.7k 9646 9646-126 A
1 2 3 4 5 6 Registered Design ©HUB Innovations Pty Ltd 2018

32

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd



URBAN BOLLARD REMOVEABLE MOUNTED GENERAL ASSEMBLY 7HUB

an indara company

1 2 3 4 5 6 7 8
[ITEM[TITLE [ DRG No. [MATERIAL] QTY |
|1 JURBAN SUITE BOLLARD LOGO DRAWING | 9646-136 |N/A -
A * A
T T
S ——— |
\
R TR
A B
8 B
(C)\ o =& =
e EN
| A
e
l I |
‘ T
SEE DXF FILE
d 9646-136 FOR g
:t:. TEXT DETAIL
PICTORIAL VIEW
NTS
D %g D
GENERAL NOTES
A 1 REMOVE ALL BURRS AND SHARP EDGES
SAND CAST NOTES:
1 MATERIAL CERTIFICATES TO BE PROVIDED AS PER ITP AND HUB TECHNICAL SPEC.
2 CASTINGS TO BE HOMOGENOUS AND WITHOUT CAVITATION
3. CASTINGS TO BE DRESSED AND FETTLED TO REMOVE ALL FLASHING AND RUNNERS
n L. CASTINGS SHALL BE FREE OF ALL MOULD AND SAND RESIDUE
S. CASTINGS SHALL BE FREE OF SINKS, WARPS, TWIST, IRREGULARITIES AND COLD SHUTS
E 6. POST MACHINING TO BE IN ACCORDANCE WITH HUB PART DRAWINGS. £
5 7 MANUFACTURING DIMENSIONAL TOLERANCING IN ACCORDANCE WITH HUB TECHNICAL
; SPECIFICATION
E S
—1 s v
+— . I M
A oL Ry | ares o wew
) oot ne | pareNT AssereLY
¢ T A S 9646-130
GRAWN APPROVED DATE CRAWN st
W TOLERANCES O A3
SECTION A-A SECTION B-B ZHUB ooy, ko o
é e 25 onang Tite
F [ "5 & SCALE 1:5 SCALE 1:5 www hub-group.com A URBAN SUITE REMOVABLE BOLLARD (A) E
Al ovevsins s o oonar seae | BODY
ATeRAL Gnacespec PRoECT TTE sche
WHEN REFERING T0 SUPPLEMENTARY CAD FILES, DIENSIONAL DATA SHoWN on T oRawng 15 AL UMINIUM ST P TLRE SUITE BN
AUTIORTATIV. CONTACT 105 F0% LARFICATIN OF ANY COWFLTIG 0% AWOGUOLS INFORIATON | pou e COAT RAL 9006 8.4kg 9646 9646131 A
1 2 3 4 5 6 Registered Design ® HUB Innovations Pty Ltd 2018

33

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd



URB AN 7HUB

URBAN BIKE RACK

MATERIALS

Linish Aluminium Sand castings
Stainless steel fasteners
Reflective Strip

DIMENSIONS:
L 150mm W 250mm H 750mm

OPTIONS:
Surface or sub-surface mounted or removeable

Picture showing sub-surface mounted

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd 34



URBAN BIKE RACK SUB SURFACE MOUNTED GENERAL ASSEMBLY 7HUB

an indara company

1 2 3 4 5 s 7 8
ITEM|TITLE DRG/REF No. | MATERIAL QTY
1 |BIKE RACK CAST BODY 9646141 |ALUMINIUM - A356-To - PC RAL 9006 | 1
2 |M12 HILTI ANCHOR - HT STEEL 4
3 |Mi2 HEX NUT N STEEL - GALVANISED 4
A A
L |M12 wASHER - STEEL - GALVANISED A
A
{s0]
1 - 7
8 ‘ B
I
) I
B I
I
I
c ‘ c
I
‘ z =
) >
E ‘ <
! e=d)
o |
©
I g
g ‘ [l
=2
E o=
I [ s
o © ‘ &) D
D:I [y}
] ! .
X2 ‘ o4
@ ]
i =7
&0 023
. f
= N ‘ [
(s150) | (oa)
8 ‘ 88 I
— - I
|
\ ! I PICTORIAL VIEW
T 3 I
‘ < e 4 NTS
| L - 17 R
| |
E ‘ [i E
| a
I 40 @l
) ]
P oRN-Jc
! < 4 a LOGO ADDED, CHEMSETS CHANGED
‘ 4 N < T0 M2
I <, a4, 4 GENERAL NOTES:
4 4 P 7 1 REMOVE ALL BURRS AND SHARP EDGES A ORIGINAL ISSUE
< L . Lia a P 00C. Mo PARENT ASSEBLY
oA GREHED | ORTE st
(0) A HUB ey JC 2/02/2018 | 1/1 A3
ARSI R e Siomm | prng T
; SECTION A-A e hub-greon o itk 203" URBAN SUITE - BIKE RACK @ .
SCALE1:5 AL owersons wwrries o oo vor scae | SUB-SURFACE MOUNT GA T
‘ e B e BLACKTOWN FURNTLRE T8 uno L)
WHEN REFERING TO SUPPLEMENTARY CAD FLES, DINENSIONAL DATA SHOWN ON THIS DRAwNG 1s | SLC, BOM _— SR .
AUTHORTATIV. CONTACT #05 FOR CLARFEATION O ANY COVFLICTING OF AYBIGLOUS AFORMATON 51 kg (60DY) 5L 9646-140 B
1 2 3 4 5 6 Registered Design © HUB Innovations Pty Ltd 2018

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 35



URBAN BIKE RACK SUB SURFACE MOUNTED GENERAL ASSEMBLY

7HUB

an indara company

5 6 7 8
TITLE DRG/REF No. MATERIAL aTYy
{250]) BIKE RACK - SURFACE MOUNT - CAST BODY 9646-145 ALUMINIUM - A356-T6 - PC RAL 9006 1
2 |M12 HILTI ANCHOR - HT STEEL 4
3 |M12 HEX NUT - STEEL GALVANISED 4 A
4 |M12 WASHER - STEEL GALVANISED 4
A
(s0)
| -1
B ‘ B
I
I
I
I
I
C ‘ C
! —
I
- |
Iz |
D % i e D
Dg |
< |
: J ‘ |
!
i) ‘ sa)
[ 1 T I |
| ‘ 4 4 PICTORIAL VIEW
<
E I < NTS E
ﬂ 4 a < <
| 2 s
| < a 4 A ORN. IC
. 4 < A OATE: 07/02/2018
‘ 4 a " a LOGO ADDED, CHEMSETS CHANGED
! 4 a T0 M2
< a
‘ 4 “ < GENERAL NOTES A
| <, 4 . 4 1 REMOVE ALL BURRS AND SHARP EDGES ORIGINAL ISSUE
a a < i 0OC. o PARENT ASSEMBLY
a L4
< g 4 DRAWN | CHECKED | DATE DRAWN SHEET.
l‘* oneovs e JCTH 2/02/201 171 A3
SECTION A-A Wy
. A wawnuogroopom | it 503" URBAN SUITE - BIKE RACK o) .
SCALE 1:5 A omewsows wmeis wo oovor soue | SURFACE MOUNT GA
e Sracerspec ProECTTIE -
SEE BOM BLACKTOWN FURNITURE 15 UNO
WHEN REFERING TO SUPPLEVENTARY CAD FILES, DINENSIONAL DATA SHOWN ON THIS DRAWNG IS | SCC, — S -
AUTHGRITATVE CONTACT U8 FOR CLARFIATION 0F ANY CONFLICTG 08 AHBIGUOUS NEGRYATON kg (RACK) S6i6 9646-14L B
1 2 3 4 S5 [ Registered Design ©HUB Innovations Pty Ltd 2018

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 36






140LT & 240LT BIN

7HUB

an indara company

MATERIALS

Chute - Linish Sand Cast aluminium

Roof - Sand Cast aluminium

Body - Mild Steel HDG and powdercoated

CAPACITY: 140LT & 240LT Solo Bin

DIMENSIONS:
140LT - L 800mm W 800mm H 1346mm
240LT - L 800mm W 800mm H 1438mm

STANDARD COLOUR: Silver RAL 9006 anti-graffiti

www.hub-group.com Registered Design © Copyright HUB Innovations Pty Ltd

38



BIN 140LT GENERAL ASSEMBLY

www.hub-group.com

TOP VIEW SECTION C-C
SCALE 1:5
|
BLACKTOWNCITY |
- I}
|
I
I
& i
C
W=
- FRONT VIEW SIDE VIEW -
(OPPOSITE DOOR)
1 2 3 4

Registered Design © Copyright HUB Innovations Pty Ltd

ASHTRAY HOLSTER
RIVETTED TO ITEM 5

TYP 2 FACES

7HUB

5 6 7 8
ITEM |TITLE REF/DRG No |MATERIAL QTY
1 [URBAN BIN COVER - 140L SULO 9646-332 |ALUMINIUM - A356-T6 1
2 [URBAN BIN CHUTE [WITH ASHTRAY] - 140L SULO (SEE NOTE 1) 9646-331  |ALUMINIUM - A356-T6 1
3 [TOP CONNECTION BRACKET 0005-351 |MILD STEEL (POWDERCOATED) 4 A
4 |EXTRUSION - 140L SULO 9646-311_|ALUMINIUM - 6061-T6 3
5 |EXTRUSION LOCK SIDE 140L SULO 9646-313 | ALUMINIUM - 6061-T6 1
A 6 |URBAN SUITE - BIN ASHTRAY Mkll RECEPTACLE 9646-349  |STAINLESS STEEL - 316 1
7 |URBAN SUITE - BIN ASHTRAY Mkll HOLSTER 9646-350  |STAINLESS STEEL - 316 1
8 [BIN CLADDING 140L SULO 9646-302  |MILD STEEL (POWDERCOATED) 3
9 [BIN DOOR 140L SULO 9646-304 |MILD STEEL (POWDERCOATED) 1
10 [BIN BOTTOM BRACE 140L SULO 9646-318 |MILD STEEL (POWDERCOATED) 3
11 [BIN BOTTOM CONNECTION BRACKET 9646-317 _ |MILD STEEL (POWDERCOATED) 2
12 [BIN BOTTOM CONNECTION BRACKET DOOR RHS 9646-316|MILD STEEL (POWDERCOATED) 1
13 [BIN BOTTOM CONNECTION BRACKET DOOR LHS 9646-315  |MILD STEEL (POWDERCOATED) 1
14 |PIANO HINGE 9646-321  |STAINLESS STEEL (GRADE TBC) 1
15 [10mm RIVET - STAINLESS STEEL - 316 16
16 [M8 NYLOCK NUT - STAINLESS STEEL - 316 6 g
17 [M8 WASHER - STAINLESS STEEL - 316 15
18 [M8 SPRING WASHER - STAINLESS STEEL - 316 15
19 [M8 x 25 SHCS - STAINLESS STEEL - 316 10
20 [M5 NYLOCK NUT - STAINLESS STEEL - 316 32
21 [M5 x 12 SBHCS - STAINLESS STEEL - 316 32
22 [M8 x 45 SHCS - STAINLESS STEEL - 316 6
23 [Smm RIVET - STAINLESS STEEL - 316 8
24 [M12 NUT (HILTI HAS SYSTEM) - STEEL (STRUCTURAL FASTENER 8.8/S) | 8
25 [M12 x 125 THREADED ROD (HILTI HAS SYSTEM) - STEEL (STRUCTURAL FASTENER 88/S) | &
26 |M12 WASHER (HILTI HAS SYSTEM) - STEEL (STRUCTURAL FASTENER 8.8/S) | 8
27 |LOCK: QTR TURN WITH SPRING CAM (ESSENTRA #468499 OR EQV') - CHROME PLATED STEEL 1
28 [140L SULO BN - (SHOWN FOR REFERENCE ONLY) o
29 |URBAN BIN CHUTE INO ASHTRAY] 140L SULO (SEE NOTE 2) 9646-363 | ALUMINIUM - A356-T6 IS
(@ ALTERNATIVE
CHUTE )
(NO ASHTRAY)
DETAIL B NTS
SCALE 1: 10
T
o Ao
N OATE: 06/12/2018
ASHTRAY DESIGN REVISED
% A ORN: JC
DATE: 20/11/2017
ITEM 27 REVISED £
a ont
NO-ASHTRAY CHUTE ALTERNATIVE
ADDED (ITEM 29)
& ® \® EXPLODED VIEW A ORIGINAL ISSUE
NTS 00 o [ —
DETALL A GENERAL NOTES: HUB Reanews e om0 (A3
X 1 THESE COMPONENTS ARE NOT REQUIRED ON LNEAR <= 100mm: £05mm
SCALE1:5 BINS WITHOUT ASHTRAY i S e s ™ DRBAN SUITE V7~
2 ALTERNATIVE CHUTE DESIGN TO BE USED W nub-group.com NN
ALL OMENSIONS W HELMETRES Ui ooorsoie— BIN - 1401 SULO
WHEN NO ASHTRAY REQUIRED. HATERIAL GRADE/SPEC PROJECT TITLE SCALE
SEE BOM BLACKTOWN CITY FURMITURE 110
WHEN REFERING TO SUPPLEMENTARY CAD FILES, DINENSIONAL DATA SHOWN ON THIS DRAWING IS | Fhici e PROECT o R
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORIMATION kg 9646 9646-340 D

5

6

Registered Design © HUB Innovations Pty Ltd 2017

an indara company

39



BIN 240LT GENERAL ASSEMBLY % HUB

an indara company

l 2 3 4 5 s 7 8
. ITEM |TITLE REF/DRG No |MATERIAL aTy
1__|URBAN BIN COVER - 140L SULO 9646-332__|ALUMINIUM - A356-T6 1
2 |URBAN BIN CHUTE (WITH ASHTRAY] - 140L SULO (SEE NOTE 1) 9646-331__|ALUMINIUM - A356-T6 1
A 3 [TOP CONNECTION BRACKET 0005-351 __|MILD STEEL (POWDERCOATED] Ll
4 [EXTRUSION - 140L SULO 9646-311_|ALUMINUM - 6061-T6 3
S [EXTRUSION LOCK SIDE 140L SULO 9646-313___|ALUMINIUM - 6061-T6 1
o\ [ & [URBAN SUITE - B ASHTRAY Ml RECEPTACLE 9646-349 _|STAINLESS STEEL - 316 1
7 |URBAN SUITE - BIN ASHTRAY Mkil HOLSTER 9646-350 | STAINLESS STEEL - 316 1
8 [BIN CLADDING 140L SULO 9646-302_|MILD STEEL (POWDERCOATED) 3
9 [BIN DOOR 140L SULO 9646-304___|MILD STEEL (POWDERCOATED] 1
ASHTRAY HOLSTER 10 [BIN BOTTOM BRACE 140L SULO 9646-318___|MILD STEEL (POWDERCOATED) 3
RIVETTED T0 ITEM 5 11__|BIN BOTTOM CONNECTION BRACKET 9646-317___|MILD STEEL (POWDERCOATED) 2
TYP 2 FACES 72__|BIN BOTTOM CONNECTION BRACKET DOOR RHS 9646-316___|MILD STEEL (POWDERCOATED) 1
3__[BIN BOTTOM CONNECTION BRACKET DOOR LHS 9646-315___|MILD STEEL (POWDERCOATED) 1
15 [PIANO HINGE 9646-321__|STAINLESS STEEL (GRADE TBC) 1
5 |fomm RIVET - STAINLESS STEEL - 316 3
s 6 |M8 NYLOCK NUT 7 STAINLESS STEEL - 316 s s
T |M8 WASHER - STAINLESS STEEL - 316 5
8__|M8 SPRING WASHER B STAINLESS STEEL - 316 15
19 M8 x 25 SHCS - STAINLESS STEEL - 316 0
20 |M5 NYLOCK NUT 7 STAINLESS STEEL - 316 32
21 |M5 x 12 SBHCS 7 STAINLESS STEEL - 316 32
22 |M8 x 45 SHCS B STAINLESS STEEL - 316 6
23 [5mm RIVET N STAINLESS STEEL - 316 8
24 |M12 NUT (HILTI HAS SYSTEM) - STEEL (STRUCTURAL FASTENER 88/S) | 8
TOP VIEW 25 |M12 x 125 THREADED ROD (HILTI HAS SYSTEM) - STEEL (STRUCTURAL FASTENER 88/5) | &
SECTION C-C 26 |M12 WASHER (HILTI HAS SYSTEM] 7 STEEL (STRUCTURAL FASTENER 88/5) | 8
SCALE 1:5 27 |LOCK: QTR TURN WITH SPRING CAM (ESSENTRA #468499 OR EQV') - CHROME PLATED STEEL 1
' 140L SULO BIN - W NCE ONL
26 [140L SULO B (SHOWN FOR REFERENCE ONLY) il
c 29 |URBAN BIN CHUTE INO ASHTRAY] 140L SULO (SEE NOTE 2) 9646-343 | ALUMINIUM - A356-T6 e
%
<
C &%
&—®
i e -
1 @+Z-e
T/ @
FLACKTOUNCITY) | | @) /rg @\\
Il
i f @) ALTERNATIVE
o | L CHUTE o
! @] (NO ASHTRAY)
NTS
! DETAIL B
‘ SCALE 1:10
= )
ORI
YN OATE: 06/12/2018
(@\ ASHTRAY DESIGN REVISED
C é o 1c
OATE: 20/11/2017
E ITEM 27 REVISED. E
A
B e
NO-ASHTRAY CHUTE ALTERNATIVE
ADDED (ITEM 29).
® EXPLODED VIEW
& /A oriiaL issue
NTS 00t 0 paser AssereLy
i ' i DETAL A SENERALOTES /) s
. 1 THESE COMPONENTS ARE NOT REQUIRED ON HUB eEsIons Ul"nom
SCALE 1:5 BINS, WITHOUT ASHTRAY 2 U e S| onavang Py
F - - - - 2 ALTERNATIVE CHUTE DESIGN TO BE USED Www.hub-group.com R URBAN SUITE W F
FRONT VIEW SIDE VIEW AL OMENSONS N HILLHETRES N0 ooworsce— BIN - 140L SULO
WHEN NO ASHTRAY REQUIRED. MATERIAL GRADE/SPEC PROJECT TITLE SCALE
(OPPOSITE DOOR] WHEN REFERING TO SUPPLEMENTARY CAD FILES, DIMENSIONAL DATA SHOWN ON THIS DRAWING IS SEE BOM BLACKTOWN CITY FURNITURY 110
: P et ORI RGN
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION kg 9646 9646-340 D
1 2 3 4 5 6 Registered Design ©HUB Innovations Pty Ltd 2017

40

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd






URB AN 7HUB

DRINKING FUUNTAIN

MATERIALS
Linish Aluminium Sand Cast finish
Bubbler and tap Stainless Steel

DIMENSIONS:
L 76mm H 760mm

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 42



URBAN DRINKING FOUNTAIN GENERAL ASSEMBLY 7HUB

an indara company

1 2 3 4 5 6 7 8
ITEM|TITLE DRG/REF No. MATERIAL QaTY
_|BASE MOUNT PLATE 9646-153 STEEL 0245 HOG 1
2 |DRAIN GASKET 9646-154 SILICONE/EPDM/RUBBER | 1
A 3 [CAST INLAY 9646-151 ALUMNIUM - A356-T6 T A
L |GRATE 9646-156 STAINLESS STEEL - 316 | 1
5 |M3 x 12 SBHCS - SILICONE/EPOM/RUBBER | 2
6 |DRAIN CHAMBER 9646-160 STAINLESS STEEL - 316 | 1
7_|D0G BOWL PIVOT PIN 9646-157 STAINLESS STEEL - 316 | 1
8 _[R-CLIP T0 SUIT 8mm SHAFT - STAINLESS STEEL - 316 | 2
5 _|D0G BowL 9646-155 ALUMINIUM - A356-T6 1
10_|CAST SHELL 9646-152 ALUMINIUM - A356-T6 1
11_|PLUMBING SUB ASSY 9646-158 STAINLESS STEEL - 316 | 1
12_|TEMPOSTOP TIME FLOW BIB TAP DE746000(DELABIE) OR EQV' [CHROME PLATED BRASS | 1
13_|TYPE 61 BUBBLER B/ACTION BUB290(ENWARE) OR EQV’_|CHROME PLATED BRASS | 1
T4 |M6 x 25 S-CSK-CS N STAINLESS STEEL - 316 | 3
SECTION C-C 15_|M12 HILTI CHEMSET ANCHOR SUB ASSY - HT STEEL L
B SCALE 1:5 16 [M6 x 16 SBHCS - STAINLESS STEEL - 316 | & |,
7 |M10 x 25 SHCS - STAINLESS STEEL - 316 | &
18_|MI0 WASHER - STAINLESS STEEL - 316 | &
d SECTION B-B d
SCALE 1:5
A
, PICTORIAL VIEW
D @ - o
/
EXPLODED VIEW
oRN ¢
NTS B s
BASEPLATE MATERIAL AND
Cl THICKNESS REVISED
E A A DRN: JC E
0ATE: o7/02/208
i — MOUNT AND DRAIN DETAIL REVISED
S <l ‘ DRN: JC
) S K DATE: 06/02/2018
a . ,‘ N P REDRAWN FOR REVISION B,
= B - 2 a| E
IR L - GENERAL NOTES: /A oriGAL IssuE
» " M 1 REDRAWN FOR REVISION B.
i i AA e 4 e, ITP 0OC. No. PARENT ASSEMBLY
. . 4
E 4
okt oA HEERES | OATE 0¥ s
R P W H“B e e CT H 247012018 171 A3
" AR - e e |
anindorscompany LINEAR > 1000mm: +1.0mm A
. o hub-groupon sl ™ DRINKING FOUNTAIN ) .
AL ovevsons wreries o oo wor sce | GENERAL ASSEMBLY
MATERIAL GRADE/SPEC PROJECT THLE SCALE
SEE BOM BCC FURNITURE SUITE 110 UNO
WHEN REFERING TO SUPPLEMENTARY CAD FLES, OINENSIONAL DATA SHOWN ON THS DRAWING IS | SLC, — SOl .
AUTHORITATIVE. CONTACT HUB FOR CLARIFICATION OF ANY CONFLICTING OR AMBIGUOUS INFORMATION 9646 9646-150 ED
1 2 3 4 5 6 Registered Design ©HUB Innovations Pty Ltd 2018

www.hub-group.com | Registered Design © Copyright HUB Innovations Pty Ltd 43



7HUB

an indara company

DESIGN INNOVATE ENABLE

HUB is a wholly owned subsidiary of Indara, Australia's
leading owner and operator of digital infastructure and
majority owned by AustralianSuper.

HUB Australasia reserves the right to change any
specification without prior notification.

Copyright © 2024 HUB Australasia Pty Ltd
All rights reserved.

HUB AUSTRALASIA PTY LID

259 Milperra Rd, Revesby NSW 2212

T+61294951293
F+6129212 6899

info@hub-group.com
www.hub-group.com

@000

E V3 - 09/09/24


http://instagram.com/hub__group
http://facebook.com/WeAreTheHubGroup
https://au.linkedin.com/company/hub-group-com
http://youtube.com/@HUB.Australasia

